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5803-F

M.Com. (Final) ABST Examination, 2018
ADVANCED FINANCIAL MANAGEMENT

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
(TTe-31)
Answer all questions (50 words each).
All questions carry equal marks. ,
Tl W7 SfEe # v T W I S0 v 9
AUE 7 B Tt v B ofw g ¥

PART-B [Marks : 50]
(Tve-9)

Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.
mm@m-@mgﬁgq,@vhmaﬁmn
F® T FIW 250 TR F offerw 7
st W # o wum

PART-C [Marks : 30]
(Eve-3)
Answer any two questions (300 words each).
All questions carry equal marks.
FE A W B T T B IW 300 7= D
v F w9t W B o e ¥
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PART-A
(TUE-3N)

UNIT-1
(weé-1)
1. () What do you meant by Future value ?
Wt T ¥ o w owEe €2
(i) Define Deferred Payment.
sregfi| PR @ SffE R
UNIT-1I
FT-ID
(iii) Define Risk. |
Sifgn w1 wRef Ff
(iv) Define Sensitivity analysis.
Haeeiem favem ® wRefi FifQ)
UNIT-III
(g1
(v) What is Corporate restructuring ?
frm TTled w0 R ?
(vi) Define Economic value added.
afds affa e = wRafm =i

Ao
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UNIT-1V

FEE-1V)

(vii) What is Balanced capital structure ?
gafem doh g w2
(viii) What is Point of Indifference ?

Ty fag w0 0?72

UNIT-V

(FFE-V)

(ix) What do you meant by 'Financial derivatives ?
s = ¥ AW T wHe €2
(x) Name the Future Contracts.

aet sEdl & AW fafau

PART-B
(@UE-7)

UNIT-I
(FE-T)

2. Discuss the relevance of Time value of money in
Financial decision-making.
fasig ol o @99 go9 @1 SEURON HT FESA F
faaem wifsm)

5803-F/1,960/555/33 3 [PTO.




3. Mr. Ganesh Places his savings of Rs. 1,000 in a two
year time deposit scheme of a bank which yields
interest @ 6% p.a. compounded semi-annually. Find
out the amount that Mr. Ganesh will receive at the end
of two years. What will be the amount if the amount is
put in a scheme which yields interest compounded
quarterly ?
frt Mo F ot TR A R 1000 7 D A B R
6% SFAMF =9 % fu v % =W § W F@ER)
R 7 gvar fe T H wra w el ofn @ o
T T RN IR =W e 8 @ s awEt
T FOEm O?

UNIT-1I
FF-1D)

4. What is 'Risk adjusted discount rate' method ? Explain

its merits and demerits.
‘vifgn TEEeE W @ feft T R 2 TR W
o = SEEE
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S. A company is considering two mutally exclusive
Projects 'X' and 'Y'. Project 'X' costs Rs. 30,000 and
Project 'Y' Rs. 36,000. You have been given below the
Net Present value Probability distribution for each Project.

TF FE N OWER AT wREemed X Ao 'Y W
freR = W & oREe X # @ 30,000 T A
fEeA 'Y ® @ 36000 T R SIOR WS
e # e FoEE gew Wima frao e e
s JY

Project-X Project-Y

NPV Estimate  Probability NPV Estimate Probability
Rs. Rs.
3,000 0.1 3,000 0.2
6,000 0.4 6,000 0.3
12,000 0.4 12,000 0.3
15,000 0.1 15,000 0.2

(i) Compute the Expected Net Present value of

Project X and Y.

TREARE X Y # O Y TOW e @

Qs

(i) Compute the Risk attached to each Project, i.e.,
standard deviation to each Project.

ToF e § T wfan sefa wm freem
1 TOA FfQ)

5803-F/1,960/555/33 5 [PTO.



(i) Which Project do you consider more risky and
why ?
feq ofEem &t oM sifi Sifem s TR sk
= ?

UNIT-III

(FTE-110)

6.  Explain the objectives and different forms of corporate
Restructuring.

frm gl & Stval W A= weRl & gEEmu

7. A Ltd. is considering takeover of B Ltd. and C Ltd. The
Financial data for the three companies are as follows :

‘o fafiee, ‘v’ fafirs @ ‘9’ fafirs = sfuufe
FE W A" T 2 A oFE B fadw www e

R ¥ ¥
‘Particulars A Ltd. B Ltd. C Ltd.

Equity share capital of

Rs. 10 each (Rs./Million) 450 180 90
Earnings (Rs./million) 90 18 18
Market Price of each share (Rs.) 60 37 46
Calculate :
AT HIT

(i) Price-earnings (P/E) exchange ratio.
qea-oe  fafam sl
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(i) Earnings Per share of A Ltd. after the acquisition of
B Ltd. and C Ltd. separately. Will you recommend
the merger of either/both of the companies ? Justify
your answer.

‘T @ T At F guE-guE AfET ¥ 9R
‘e’ fafaee @1 wfa ofwr o9 ¥ B 2 ¥ oMW
TAE/AM F fmEn yEfad F 2 W SW
1 gie it

UNIT-1V

(FFTE-1V)

Explain the features of optimum capital structure.

FREad ISt W & faemad samw

Rahim Limited is Planning an Expansion Programme
which will require Rs. 30 crores and can be funded through
out of following three options :

(i)  Issue further equity shares of Rs. 100 each at par.
(i) Raise loans at 15% Interest.

(iii)) Issues Preference shares at 12%.

Present Paid up capital is Rs. 60 crores and average
annual EBIT is Rs. 12 crores. Assume income tax rate
at 50%. After the expansion, EBIT is expected to be
Rs. 15 crores p.a.
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Calculate EPS under the three financial options indicating
the alternative giving the highest return to the equity
shareholders.

Wm fafiee ww frem iR #t dem s @ g,

foms o 30 FT *@ F1 EvEEa ot ol frmwt

I e A f el ¥ Rl e 9w

IR

G 100 % I R wwa oWl N T W
Pl

i) 15% =& | W/ T F@I

(i) 12% W fmm oo =1 fFriEA

Faaa wea Tt 60 FAT T ¥ qen oiwm affe =
™ W ¥ R (BBIT) 12 T T ¥ e
W 50 wiwm W farR % wv=q EBIT 15 #g
T FffE 'R #: GuEm #

T SOME w ITEew TEE [ oI fame #
i gu A Py el ® wmea W oiw e
F A FiSC
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10.

11.

12.

13.

UNIT-V
FFTE-V)

What is the Need of Derivatives ? Explain.
vl # sravEEa w1 §? qumEy

Distinguish between 'Financial Futures' and '‘Commodity
Futures'.

T TR W T W # w dm wm

PART-C
(wve-v)

UNIT-I

(v=E-D)

"The time value of money is Important Principle of
Financial Management." Discuss ?

" W T g Ry w el e &1
fEe i

UNIT-1I

FFrE-10)

The following Possible cash inflows are presented by
Suman Limited about its Project A and B. The Company
wants to undertake one of them depending on their
coefficient of variation. The initial outlay for both the
Project is Rs. 10,000.
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14.

T fafis gr oot qRE ‘o' e ‘9 @ HaY
¥ frefafen gafa T9g ewEe & m g faero-Toent
F oMYR W HTH I F Y T F o wedt 31 A
femet ® fag wRfs fafEm 10000 F R

Possible Events Project A Project B

Cash in Probability Cash in  Probability

Flows Flows

(Rs.) (Rs.)
A 8,000 0.10 25,000 0.10
B 10,000 0.20 20,000 0.20
(& 12,000 0.35 15,000 0.45
D 14,000 0.25 12,000 0.15
E 16,000 0.10 10,000 0.10

Find out the coefficient of variation and comment.

foewm O # MO wifse @ fewolt wifsw

UNIT-III

@E-110)

.Suppose a Firm has employed a total capital of Rs. 1,000

lakhs (Provided equally by 10% debt and 5 lakh equity
shares of Rs. 100 each), its cost of equity is 14% and it is
subject to corporate tax rate of 40%. The Projected free
cash flows to all investors of the firm 5 years are given in

the table :
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————————————————

a fF uw wH 3 g et 1000 W@ T W T
3§ (qUW 10% WU AM 5 @ TN S, T
1oos.uﬁlmﬁ)maamm%mﬁmwa
- 40% ¥
mwmmmmﬁﬂaﬂ
% frm afem ¥ A ™ &

Year Rs. (in Lakh)
1 300
) 200
f 3 500
4 150
! 5 600
Compute :
TR F
) Valuation of firm.
} wd w1 Al

(i) Valuation from the perspective of equity share-
holders. Assume 10% debt is repayable at the year
end 5 and Interest is Paid at each year end.

—— e B S I o P
¥ % 10% % ot T ® ol F TYTH A
oiw @ s ¥ W W gew wa
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UNIT-1V

(FFTE-1V)

1S. What do you meant by capital structure of a

16.

company ? Distinguish it from financial structure and

capitalisation.
Fo B G W Y oM o ogweR § 0 faem s
ﬁmmammﬁmm?

UNIT-V

(FFTE-V)

i |
Explain the Meaning, features and types of options.

Flow they differ from futures.
fomedl w1 oef, favwandt w§ wER TUEET) SR
¥ W Fif

K|
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